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Answers to questions are to be given only in English except in the case of candidates who

have opted for Hindi Medium. If a candidate has not opted for Hindi Medium, his/her

answers in Hindi will not be valued.
Questions No. 1 is compulsory.

Candidates are also required to answer any five questions from the remaining six

questions.

Working notes should form part of the respective answers.
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1. (a) SummitLtd., an All Equity Company, has a PAT of ¥ 300 Crores and 5
15,00,000 Shares of ¥ 10 each outstanding at the end of ﬁnanc}al year.
Its Cost of Capital is 13% and Rate of Return is 17%. Ascertain the
Value of the Company under Walter’s Model, if payout ratio is —
(8) 15%, (b) 30%, (c) 60%, and (d) 90%. Also draw out the inference

from the values obtained under different cases.
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.00. Its return on equity

Sandy Ltd. has a book value per share of T 140.0
ercent of its annual

is 16% and follows a policy of retaining 60 p
earnings. What is the price of its share now if the opportunity cost of

capital is 18 percent ?

[Adopt perpetual growth model to arrive at the solution].
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English Bank Ltd. sold Hong Kong Dollar 10 Crores value spot to its
customer at T 9.70 and covered itself in the London market on the
same day, when the exchange rates were US $1=HK $ 7. 7506
_7.7546. Local interbank market rates for US $ were Spot US § I
=¥ 74.70 — 74.85. Calculate the cover rate and ascertain the profit oz

loss on the transaction. Ignore brokerage.
. (1

Figures are to be rounded off to 4 decimals.
{ K

'Herbal Box is a small but profitable producer of beauty cosmetics

using the plant Aloe Vera. Though it is not a high-tech business, yet

Herbal’s earnings have averaged around X 18.5 lakhs after tax, mamly

on the strength of its patented beauty cream to remove the pimples.

The patent has nine years to run, and Herbal Box has been offered ¥ 50
lakhs for the patent rights. Herbal’s assets include ¥ 50 lakhs of
property, plant and equipment, and ¥ 25 llakhs of working capital.
However, the patent is not shown on.the books of Herbal Boxes

Assuming Herbal’s cost of capital being 14 percent, calculate its

Economic Value Added (EVA).
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2. (a) Following information is available for consideration : 8
BSE Index 25,000
Value of portfolio ‘ T 50,50,000
Risk free interest rate 9% p.a.
Dividend yield on Index 6% p.a.
Beta of portfolio - P

We assume that a future contract on the BSE index with 4 months
maturity is used to hedge the value of portfolio over next 3 months.

One future contract is for delivery of 50 times the index.
Based on the above information calculate :

(i) Price of future contract.

(ii) Gain on short futures position if index turns out to be 22,500 in

3 months.

Note : Daily compounding (exponential) formula is not required to be

used.
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